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- UNIT ONE
Text What Is Macroeconomics?
[1] Macroeconomics is concerned with the big economic issues that determine your own e-

conomic well-being as well as that of your family and everyone you know. Each of these issues
involves the overall economic performance of the nation, rather than that of particular individ-
uals.

[2]  For instance, do citizens find it easy or difficult to find jobs? On average, are prices ris-
ing rapidly, slowly, or not at all ? How much total income is the nation producing, and how
rapidly is total income growing year after year? Is the interest rate charged to borrow money
high or low?® Is the government spending more than it collects in tax revenue? Is the nation as
a whole accumulating assets in other countries or is it becoming more indebted to them?

[3] Each of these six questions involves a central macroeconomic concept to which you will
be introduced in this unit. Now let us take each one in turn and see how it affects everyday
life ;

[4] 1. The unemployment rate. The higher the overall unemployment rate, the harder it is
for each individual who wants a job to find work. College seniors who want permanent jobs af-
ter graduation are likely to have more job offers if the national unemployment rate is low than
high. ® All adults fear a high unemployment rate. In “bad times” when the unemployment rate
is high, crime, mental illness, and suicide also increase. It is no wonder that many people con-
sider unemployment to be the single most important macroeconomic issue. And this is nothing
new.

(5] 2. The inflation rate. A high inflation rate means that prices on average are rising
rapidly, while a low inflation rate means that prices on average are rising slowly. An inflation
rate of zero means that prices on average remain the same, month after month. Many people
are affected when the economy shifts from a low to a high inflation rate, while a high inflation
rate harms those who have saved in the past, it helps those who have borrowed. ® It is this
capricious aspect of inflation, taking from some and giving to others, that makes people dislike
inflation. ®

[6]  3.Productivity growth. “Productivity” is the average amount per worker that a nation
produces in total goods and services, the higher a nation’s average productivity, the more there
is to go around. The faster average productivity grows, the easier it is for each member of so-
ciety to improve his or her standard of living. If the growth rate of productivity were zero, to
have more houses and cars, we would have to sacrifice and build fewer hospitals or schools.
Such an economy, with no productivity growth, has been called “the zero-sum society” be-
cause any additional good or service enjoyed by one person requires that something be taken

away from someone else. Such a society, with constant sacrifice and strife, is not likely to be a
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very pleasant place to live.

[7] 4. The interest rate. When interest rates are high, borrowing is expensive. The biggest
losers are those who would like to become homeowners, since high interest rates boost the
monthly payments on mortgages enough to make homeownership unaffordable for many peo-
ple. College students and recent college graduates find that monthly payments on the new car
of their dreams become too high, and they are forced to buy a smaller car, a used car, or per-
haps no car at all. Changes in interest rates, whether up or down, disrupt financial planning
for everyone, and create windfall gains and losses for savers, investors, and borrowers.

[8] 5. The government budget deficit. When the government spends more money than it
takes in as tax revenue, it runs a deficit. People benefit from a budget deficit at the time it oc-
curs, since they gain from the higher level of government spending ( or lower taxes ) than
would occur if the budget were balanced. ® This is not a “free lunch,” however, because even-
tually someone must pay the bill . Today’s deficit will be paid, directly or indirectly, by citi-
zens in the future, including college students now reading this text. Citizens will eventually
“pay the bill” for today’s government deficit through lower government spending that would
have occurred otherwise, through higher taxes, or through lower income.

[9] 6. The foreign trade deficit. During the 1980s Americans purchased far more imports
from foreign nations than we sold as exports. To pay for all these imports, Americans sold
many assets to foreigners. By the end of the decade the United States had run up a debt to for-
eigners of hundreds of billions of dollars. The net result is to make tomorrow’s citizens poorer
by making foreign goods more expensive and by requiring that they pay a fraction of their fu-

ture income as interest payments to foreigners.

New Words and Expressions

macroeconomics [ 'makrou,itka'nomiks ] n. EMBTH, KET2E
well-being n. BA

revenue * [ 'revinju;] n. WA, B WA RS
asset ['zeset ] n. (%] ﬁf?ts I 7=
indebted [in'detid] a. il i

suicide [sjuisaid ] n. AR

inflation [in'fleifan] n. AR Ak

capricious [ka'prifes] a. - REXEW, TERK
productivity [prodak'tiviti] . R, £ h
zero-sum [ 'zisrousam] a. — B 5ES —FTHMNELN
strife [straif ] n. T, iz
homeowner [haum'suna] n. BEx

boost [bu:st ] v. i =

mortgage [ 'mogidz] n & wv. FLHH
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B REA R

homeownership [ haum'sunafip ] n.

unaffordable [ ano'fo:dabl] a. XX, BEXBH

disrupt [dis'rapt] 0. WA, HR

windfall ['windfo:l] n. BRKIEHRE, (M) Ik, ¥
budget ['badszit] n. mE

investor [in'vesta ] n. BE

deficit ['defisit] n. RF TI

run up XF GEZREK

the net result BE4R

Notes

(D%4]H charged to borrow money J& it 343 A IBVEE B, (&4 rate,

@. .. if the national unemployment rate is low than high,
B8] than 41 24 F rather than R, BER “MAR”.

@4y while 5] R —MEBRIEM 4], it helps -+ H @y it 3% a high inflation rate,

@OXR—A “itis... that...” BFAHE, 4 fY taking from some and giving to others £
capricious aspect of inflation f)[R{7iE .

®. .. since they gain from the higher level of government spending or lower taxes than would
occur if the budget were balanced ,
AI P than 5] @R —MEBEK HLBREN A, NATHEE T 15 what, FIRER AL EE
F BB S5 —4],. .. through lower government spending than would have occurred other-

wise ...,

Exercises
Reading Comprehension

I . Choose the best answer.
1. I the national unemployment rate is low, college students
~ A. have permanent jobs.

B. want more jobs.
C. have more chances to find jobs.
D. want more permanent job offers.

2. All adults are afraid of a high unemployment rate because
A. the higher the unemployment rate the more the crime mentalillness and suicide cases.
B. many people consider unemployment to be the single mostimportant macroeconomic

issue.



C. they probably have too much more permanent job offers to choose if the unemploy-
ment rate is high.
D. it is more difficult for them to find jobs if the unemployment rate is high.
3. Changes in interest rates from low to high create gains for
A. savers
B. borrowers
C. investors
D. all of them .
4. 1f the government runs a deficit, which statement is not true? A. The goverment spends
more money than it takes in.
B. People benefit from the deficit at the time it occurs.
C. Citizens will eventually pay the deficit.
D. The government will try to pay the deficit and balance it.
5. Which statement is not true according to the text?
A. Macroeconomics is the study of economic performance of particular individuals.
B. Some people cannot enjoy more goods and have to sacrifice in the zero-sum society.
C. people dislike inflation because it means taking from some and giving to others.
D. Fewer people borrow money when interest rates are high.

I . Match Column A with Column B according to the text.

A B
1. low inflation rate a. People have to constantly sacrifice and strife
2. lower productivity b. That will eventually make tomorrow’s citizens poorer
3. zero  productivity c. Prices on average are rising slowly
growth rate
4. high taxes d. Today’s deficit will be paid by citizens in the future
through -+
5. high debt to for- e. The average amount per worker prodnces in total goods and
eigners - services decreases
Vocabulary

I. Fill in the blanks with the words and expressions given below. Change the form if neces-

sary.

strife, accumulate, disrupt, go around, mortgage

1. She could not drive to work because snow in the driveway to a depth of five
. ,



feet..
2. Telephone service for hours because of the heavy flood.

3. He needs money and raisesa  on his house from a bank.
4. The market economy is certainly to cause severe of the marketplace.
5. There are so many people that we have not enough food

I . Match the words in Column A with their corresponding definitions in Column B.

A B
1. capricious a. Increase Or raise
2. revenue b. deprive oneself of something for the sake of another person,

purpose or ideal

3. boost c. changeable

4. deficit d. a financial accounting loss

5. sacrifice e. the income of a government from taxation, customs or other
sources '

Reading Material A

Nominal GNP, Real GNP, and the GNP Deflator

To understand the behavior of the six key macroecomomic aggregates we need a measure
of the size of the economy as a whole. Probably the most frequently used abbreviation in
macroeconomics is GNP, which stands for gross national product. This measure of the
economy’s overall size is defined as the value of all currently produced goods and services sold
on the market during a particular time interval. ® GNP can be most easily thought of as the to-
tal amount of current production.

Economists compute GNP by a process of adding up all the different types of current pro-
duction. The market value of the actual amount of production is called nominal GNP. The
word nominal means the actual amount produced at current prices. Nominal amounts are not
very useful for economic analysis because they can increase either when people buy more physi-
cal goods and services-more cars, steaks, and haircuts-or when prices rise,

Are we better off if we spend more money? Or have price increases chewed up all our
higher spending, leaving us no better off than before? Changes in nominal magnitudes cannot
answer these questions; they hide more than they reveal. So economists concentrate on
changes in real magnitudes, which eliminate the influence of year-to-year changes in prices and
reflect true changes in the number, size and quality of items purchased. ®

Nominal GNP suffers the defects of any nominal magnitude, since its increases could re-
flect either increases in real production or in prices. To focus on changes in production and e-
liminate the influence of changing prices, we need a measure of real gross national product, or

5



real GNP. Like any real magnitude, real GNP is expressed in the prices of an arbitrarily cho-
sen “base year. ” The official measures of GNP in the United States use 1982 as the base year.
Real GNP for every year, whether 1929 or 1990. is measured by taking the production of that
particular year expressed at the constant prices of 1982.

Is real GNP in a particular year larger or smaller than nominal GNP? The answer depends
on whether prices in that particular year on average were higher or lower than in 1982. Since
prices usually increase each year, nominal GNP is higher than real GNP for year after 1982.
Similarly , nominal GNP is lower than real GNP for years before 1982. You can see this regu-

lar pattern in Figure 1-1, which displays nominal and real GNP for each year since 1870.

NOMINAL GNP AL WAYS GROWS FASTER THAN REAL GNP WHEN PRICES RISE
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Figure 1-1 Nominal GNP, Real GNP, and the Implicit GNP Deflator, 1870~1989
Notice how the nominal GNP line lies below the real GNP line before 1982 but lies above the teal GNP
line after 1982. This reflects the fact that the current prices used to measure no-minal GNP were low-
er before 1982 than the 1982 prices used to measure real GNP. After 1982 the current prices used to
measure nominal GNP were higher than the 1982 prices used to measure real GNP. Notice how the
nominal GNP line crosses the real GNP line in 1982, the same year that the GNP deflator attains the

value of 1. 00. This oceurs because in 1982 (and no other year ) the prices used to measure nominal

GNP and real GNP are the same.



Later on we will consider other real magnitudes, such as real consumption and the real

»

money supply. An alternative label for real magnitudes is “constant-dollar,” in contrast to

nominal magnitudes, which are usually called “current-dollar”.

The ratio of nominal to real GNP is called the implicit GNP deflator. The deflator tells us
the ratio of prices actually charged in any single year (say, 1929) to the prices charged in the
base year 1982. ® How is the implicit GNP deflator related to the “inflation rate,” the second
of the six central macroeconomic concepts? The inflation rate is the rate of change of the im-
plicit GNP deflator.

The relationship between the implicit GNP deflator and the inflation rate can be remem-
bered easily, When the implicit GNP deflator is rising, the inflation rate is positive. When the
implicit GNP deflator is unchanged, the inflation rate is zero, And when the implicit GNP de-
flator is falling (a rarity), the inflation rate is negative.

An inflation is said to occur when the inflation rate is positive for a sustained period, that
is, when there is a sustained upward movement in the implicit GNP deflator. A deflation is
said to occur when the inflation rate is negative for a sustained period. that is, when there is a

sustained downward movement in the implicit GNP deflator.
Notes

O X EAETFRENERRRIEE—MEER R E BN EET S LHERIERNE
7= B S AR 55 B (L

QFRAFLFMEBALHRNEINL, XFELRBUEATENE LFE5EZ R I W H
HEB Sy g g, aRERE LHELEL.

@XFh BRALE R LR FRRAVEM —4F (il 1929 4P MR 1982 43X —BAE4E 1Y
Wrrgit.

Reading Material B

Recurring Business Cycles/Natural Real GNP
Recurring Business Cycles

Throughout history the economy hés experienced business cycles, alternating periods of
good times and bad times. Look again at Figure 1-1 and find the thick black real GNP line.
Notice that real GNP becomes larger over time, but also exhibits up-and-down wiggles. These
wiggles represent the business cycles that have recurred throughout history, culminating in the
most extreme business cycle of all, the Great Depression of 1929~1933 when real GNP de-

clined by 30 percent in one continuous and catastrophic downward movement. ®



The distinguishing characteristic of business cycles is their pervasive character,? which af-
fects many different types of economic activity at the same time. Business cycles are recurrent
but not periodic. This means that they recur again and again but are not always the same
length. Business cycles in the past have ranged in length from one to twelve years.

Figure 1-2 illustrates two successive business cycles in real GNP. The high point in real
GNP in each cycle is called the business cycle peak. The low point is called the trough. The
period between peak and trough is called a recession. After the recession comes the expansion,
which continues until the following peak.

Peak Trough

Peak Trough

Real GNP

Peak  Trough

Recession
Recession

Expansion

Recession

I
L L Expansion
| |

——————— -
r——i——-—————‘———-———-————

Time
Figure 1-2 A Succession of Cycles
Although a simplification, Figure 1-2 contains two realistic elements that have been com-
mon to most real-world business cycles. First, the expansions last longer than the recessions.
This occurs because on average real GNP is growing over time ,so each successive peak is high-
er than the last peak. Second, the two business cycles illustrated in the figure differ in length.
Since World War II, business-cycle expansions have been as short as one year (July 1980 to Ju-

ly 1981) and as long as nine years (February 1961 to December 1969).

Real GNP . Actual and Natural

Between a high production level that causes the inflation rate to speed up, and a low pro-
duction level that causes the inflation rate to slow down, there is some desirable compromise
level that keeps the inflation rate constant. This intermediate level of real GNP has been called
“natural,” a situation in which there is no tendency for inflation to accelerate or decelerate.

Figure 1-3 illustrates the relationship between actual real GNP, natural real GNP, and
the rate of inflation, In the upper frame the red line is actual real GNP, exhibiting exactly the
same business cycles as in Figure 1-2. In the lower frame is shown the inflation rate, ® The
thin dashed vertical lines connect the two frames. The first dashed vertical line marks time pe-
riod ¢, Notice in the bottom frame that the inflation rate is constant at ¢,.

8
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Figure 1-3 Why Too Much Real GNP is Undesirable

By definition, natural real GNP is equal to actual real GNP when the inflation rate is con-
stant. Thus in the upper frame at ¢, the red actual real GNP line is crossed by a black natural
real GNP line. To the right of #, actual real GNP falls below natural real GNP, and we see in
the bottom frame that inflation slows down. This continues uhtil time period #,, when actual
real GNP recovers to once again equal natural real GNP. Here the inflation rate stops falling
and is constant for a moment before it begins to rise.

This cycle repeats again and again . Only when actual real GNP is equal to natural real
GNP is the inflation rate constant. For this reason. natural real GNP is a natural or compro-
mise level to be singled out for special attention. During a period of low actual real GNP, desig-
nated by the gray area, the inflation rate slows down. During a period of high actual real
GNP, designated by the pink area, the inflation rate accelerates. Sometimes the condition of
excessive actual real GNP is called “an overheated economy”, a designation that you can link to
the pink area on the diagram.

Basic Business Cycle Concepts The red real GNP line exhibits a typical succession of busi-
ness cycles. The highest point rea-ched by real GNP in each cycle is called the “peak” and the
lowest point the“trough”. The “recession”is the period bet-ween peak and trough, the“expan-
sion” the period be-tween the trough and the next peak.



